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Program The Total (input, output);

{This program find sum of two integer number}
Var

A, B, Total: integer;

Begin

Write (‘Enter two integer numbers to be add: ');

Readin (a, b);
Total: = a+b;

Writeln (‘The sum of’, A,'and’, B,'is’, Total);

End.
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Const
A = 30:¢
B = 9.6:

C = “Name:"
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Program Circle(input,output:(
Const

Pi=3.14:
Var

Radius : integer:

Circum , area : real:

Begin

Writeln ( ‘Enter Radius:(*

Read ( radius:(

Circum := 2*pi* radius

Area := pi * radius * radius:

Writeln (‘The value of circum is’,circum(
Writeln (‘The value of area is’,area:(

End.

Y5 aousl Ladls i 909 Pi pew Vb 20bpdl (88 ol cayeis lind  soludl 2ol (o

9 Aol dopun pusl i Jpng aolsdl Joc Jpuus olsdl (s culgill plaziw]
8 uSJ| 2wl I

Jsadl csde a0l wgSud wulgidl (sl sloseVl g oSJs (bl 2wl ! duais Us,i o

A yall
w@111000.net



http://111000.net/
mailto:w@111000.net

Tpabedl el A58 (50 ol Jpend 5
http://111000.net

Program Circle(input,output:(
Var

Pi : real:

Radius : integer:

Circum , area : real:

Begin

Write (‘Enter Value of pi:(':

Readln (pi:(

Writeln ( ‘Enter Radius:(*

Read ( radius:(

Circum := 2*pi* radius:

Area := pi * radius * radius
Writeln (‘The value of circum is’,circum:(
Writeln (‘The value of area is’,area:(
End:

Writeln,oVlg Write ol : gaoldl gw, I

eloVl o gl lidg JSwll 88 ,0lgVl o sz g9 wsle ol 13 (o8 B 2iiw
zh3ls aclbal) 5oVl 1is paziuug Writeln ,oVl 989 zwolil s ploziwYl asslill
olegs g asliadl (sle WLl

Writeln : JgVI

Jio ady Sl | | bas ey aesl acliby pos) 99

Writeln (‘This is First Line:(*
Writeln (‘This is the second Line:(*
Writeln (‘This is the first line’, This is complete of the first line:(*
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Write (‘This is the first line:(’

Writeln (*This is the complete of the first line:(*
Write (‘This is the Second line:(*

Write (‘This is complete of line 2:(*

Writeln (‘This is the End:(*
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This is the first line This is the complete of the first line
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My Name is Rayan
o]
I live in Riyadh

\

Writeln (‘My Name is Rayan:(
Writeln:
Writeln (‘I Live in Riyadhs(’

\

Writeln (‘My Name is Rayan:(
Writeln:(*')
Write (I Live in Riyadhs(’

Writeln
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Writeln (‘My Name is’,B,A,’and my age is’,c(
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My Name is =Rayan and my age is 20
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Writeln ('Enter your Age:(':
Read (Age:(
Write (‘Enter your Salary:(':
ReadIn (Salary:(
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Write a PASCAL program to find the roots of a quadratic equation (assume that b2 -\
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Program Root(input,output:(
Var

A,b,c :integer:

X1,x2 : real:
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Begin

Writeln (‘Enter the Numbers A , B ,C:(*

ReadIn (a,b,ci(

X1:= (-b+sqrt(b*b —4*a*c))/(2*a:(

X2:= (-b-sgrt(b*b —4*a*c))/(2*a:(

Write (‘The Nunmber X1 =’,x1 ,’And Number X2 =’x2:(
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